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Answer all bit questions of a particular question

senially at one place to ensure effective evaluation

Qe gy FQUae geu QIR 6a6RIgT ¥e g FF6
ang FO ISR KAQ GAILAER G I Fieea &8

Use of Calculator is prohibited
g4e 980 VORI FES 26T

Answer all the Groups as directed

FeCaIgaIal QNg IR QN &
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( 2 )

GROUP—A
e—QaIa
All questions are compulsory
919 94 QRICIN® 26¢
Choose and rewrite the correct answers of
the following : 1x7=7
QANYS g996ea A0 Q@ QUS 8 6ad -

{a) The molarity of pure water is
Qe A4 €AINIGE 6298
(i) 5546 M
(i) 54-56 mol L°!
(iii) 5556 M
(iv) 45-56 mol L1

(b) Which of the following is the [UPAC

name of Kj3[Fe(CN)y]?

K3[Fe(CN)g] @ IUPAC QI QgRgeaies
RIQ 6QNG ?

(1) Potassium hexacyanidoferrate (I1I)
() Potassium hexacyanidoferrate (I1)
(iii) Potassium ferrocyanide

(iv) Potassium Fe(lll) cyanide

( Continued )
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(d)

(e)

/1317

Xlectrophilic substitution in benzaldchyde

takes place at
CARRINGRINGR QENRGe 2A1KME dogide
goqul 62gQl g9 26e
(1) o-position
(it} p-position
(ii}) m-position
(tv) o- and p-positions
Which of the following reagents is used

to distinguish between formic acid and
acetic acid?

FOAYe 0@ 28ede Tfe g 6 2186
2g] RIGA TAR QUIRAFNER NS 97
(i) NaHCO; (aq.)

(i) Tollens’ reagent

(iii) Baeyer’s reagent

(iv) Acidified CuSO,4 solution

Which of the following substances is
used to prepare phenol commercially?

eQde GRca 6Tee ‘AR AR 64
aQlel MeRe 97

(i) Cumene

(ii) Benzene

(iii) Benzenediazonium chlonde

(iv) Nitrobenzene

{ Turn Quer )
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2. (a)

1317

( 4 )

Chlorobenzene  on treatment  with
sodium in dry ether gives diphenyl. The
name of the reaction is

6RQIERELRTRER 6QITLN UF FY Qa9
Qageea AAINER CINCTIIRR 67IQANI

<@ gogale | 6298
(i) Wurtz reaction
(i) Wurtz-Fittig reaction
(iii) Fittig reaction
(iv) Sandmeyer’s reaction
The rate constant of a reaction depends
on
4Q golaa 21a FAIS N Q6R
(i) initial concentration
(i) time of reaction
(iii) temperature
iv) extent of reaction

Fill in the blanks : 1x3=3

QIR 9eE 2 :

() The wunit of molal dCPrCSSion
constant is

AR 2erae gaiea 9@ —

aeo'|l il
[ cont™
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(i) The charge on a carbonate jon is

Zn-H
< < i) CH3COCHs —o HgCI—’
6QITN QIQERIERE 2IDFER YR OIF cH
gRnR 26| 3—CH,—cy,
write the name of the reduction
(iii) In a reaction, the unit of rate of process.
reaction is same as that of its Zn-Hg
;:::: t;:::stant. So it is order CH3;COCH3; ~onc. HCI
CH3"‘CH2——CH3

6T geRaIel IR I*@ SI'a 21
gaic Qe Qe 26T 699 N
gelal ga a6

1x4=4

9% GRId Ad8Cx RN 6|

GROUP—B
H—AIQ

(b) Answer the following questions :
dafge gadeea eaa @ :

(i) Find out the ECE value of silver.
(Atomic mass of silver = 108)

daeea ECE 9@ Q2ia @al
(Gaeee aonIeRe Qg] = 108)

3. Answer any seven of the following questions :
' 2x7=14

PAREe gYIRe AuQ 696@ldd QIRTQ @ea
QA : '

(a) Name and write down the electronic
conﬁguratmns of transition metals with
atomic numbers 24 and 27.

24 8 27 QQAIGRR QAIT QI Q°QNE
UIYYPRR AN B QEARERIa TR sl

What happens when KOH is added to
KoCry0,?

K,Cry0, Q%6 KoH daiqen @'q 2697

(i) Between CH,;OH and CI:I3NH2,
which has higher boiling point?

CH3;O0H qQ@® CH3NH,; Adea QIR
@
QERIT NR? | (b)
(iiij Name the sugar present in RNA.
RNA 6@ 291 99qIq «I1A 6xdl

( Turn Over ) /1317
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(c)

(d)

(e)

(g)

(h)

CH3CONH2 LiAlH“—-) A

NaNO, + HCI

Mention the names of A and B in the
above sequence of reactions.

QAARNYE QOTARNEQ A B B @ QI
QRN QI

Why is CuSO, (aq.) not stored in zinc
vessel?

Qgl QIg6Q@ CuSO, (aq.) QTR A°QTE
QQUAN [IR?

Transition elements generally show

variable valency. Explain.

QRS EAIRAYFS AVAOGE AALKND
ARSI Q@I QI

Write Arrhenius
activation energy.

2162004 ANINAE R | ATAS 493 AR
emdl|

Discuss the primary structure of protein.
cgigea glafe aeeal Qdal @l

What is Fehling solution? Wh_cther it is
an oxidising agent or a reducing agent?

caeede Q9@ @'a? <@ I e @
IRNAR?

equation. Define

( Turn Qver )
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( 8 )

Discuss Cu-AgNO; (aq.) cell.
Cu-AgNO; (ag.) 6Q19 QIAEQ AR
Q@Ql

What is coupling reaction?
2g6Ia 9oTal @47

4. Answer any seven of the following questions :

3x7=21

FOAYS geaIee MIQ 696REd AIPTAQ QA
Q2

/1317

(a)

(b)

(c)

(d)

Discuss different methods of preparation
of haloalkanes from alcohol.

ANRLAY TERNIAIQACRR VA 2@ Al
VR ARTYER Qgal @l

What are freons? Explain their environ-
mental effects. https://www.odishaboard.com

qURYLR @7 6QAINTQ ATCIE QUL
aeIe adal @l

How d:0 the substituents in phenol affect
Its acidic nature?

gégsas?q% ETORQ 2Agia Q& @asw
@dQ gaue aqieaiq?

Wha;t are ideal solutions?
UE 29agee 9'@?

( Continued )
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(g)

(h)

(M)

1317

(9)

A first-order reaction is 20% completed
in 10 minutes. Calculate the time taken
for completion of 75% of the reaction.
[log 2 = 0-301])

6QITNY gan-gn gelaiea 20% QAR
QIR 10 §5¢ QIGem 6Q2 9eRaIe 75%
QAIAE VIR 6266 AN ATe, 2QIe QQl
[log 2 = 0-301]

Discuss the stereoisomerism in the
complex of coordination number 4.

4-QOQA1 A°HYI QI RAARL°CIILR A°QRA
SAIGe AAIRARS ER !l

Explain the splitting of d-orbitals in
octahedral crystal field.

AT TR 6MGER d- aaeemqeaa
Ialee Q!

What happens when CuSO, solution is
electrolysed taking copper electrodes?

Q08 QEARETIF QT A FAAAMETT
QQd GQYe Q6qU8 Qe Q'Ea atarg?

Explain the amphoteric behaviour of
amino acids.

aidicnl 2ge aadl gee egf! al

( Turn Over)
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( 10 )

Write down the Faraday (F) of o,

necessary for conversion per mole of the

following :

MR 9@ 6AIR ABRER A gq

TIQUER (F)

QIFQ IR, ERYI

(i) Aluminium ion to aluminium
(i) Hydrogen sulfide to sulfur

(iii) Ferrou

s sulfate to ferric sulfate

S.
(@ What are colligative Properties?
QM 998 @'@ 7

(b)

(c)

/317

ShOW that el

Colligative p
Qg €Q,
9991

Salt is a4

€vation of boiling point is a
roperty.

WS acae we agaew

d
cggs. Explain °d to water during boiling

agq)
W |

%lasm

§96 aidea qa aaiaNd,

3

2
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6.

( 11 )

Define specific conductance and molar
conductance. Find a relationship between
these conductances. What is the effect of
concentration on these?

A decinormal solution of sodium acetate when

8. Discuss valence bond

( 12 )

theory to explain

bonding in coordination cgmpounds..ﬂ_Show
that [Ni(CN),])2~ and [NiCl,)*" are of different

4+3=7

shape. ~
‘caIeIel a1l dsie’ Qaaeeediee 6419

Qg6Q QI Qe QIIRANG, e @l Qe

placed between two electrodes each of area
105 cm? and placed at a distance of 0-75 cm
has a resistance of 52'5S ohms. Calculate its
specific and molar conductances. 1+1+42+3=7

6Q [Ni(CN),4)%~ 99° [NiCL)* @ IR AW
26e

9. (a) What do you mean by denaturation of
Qg ATQILRC! ¥Q° 6AINIR ARATROIQ G protein? Give two examples. 2+1=3

6Qd | ¥@ OGQIRRCININS AUca I ANS QIR 69ITQa QYO QUER @' QT? QAT
eal QQLQE Q|

105cm? QAR geg QCRREQIE 9@ (b) Explain haloform reactions. 2
60dRAAIN  6QIPAA AIT6ET QRE AR QERNNTF 9o/ QI |

075 cm GR@! fAUEa QulaIes, «21e gesa (c) Acetaldehyde is treated with HCN at

@3 52'5ohms. Q9 AAQLRA 8 AR
A0QI2eel das el

controlled pH to give a product (A). What

happens when A undergoes hydrolysis
in acidic medium?

NACINGRIRE FARG pH6EQ HCN Q96

. TR 4+3=7 - -
7. Write notes on the following : A9IR6R QQIQ (4) T9I 6QETEER A Q

Q'8g Ggen 6ad : aJla AQYIER FRICYIE V6T, '@ 6297

(a) Aldol condensation

* & ok
illiamson synthesis

(b) William } 24H (317) 502 R/E

/317 (Tum
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